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1. Determine whether the relation
2), (-10, 3), (-5, -1 }.@ 3)} is a function. Explain.

Not a funchion

2. Find f(-6) if f(x) = -2x + 20
£60) = -2(—(o§+zc> -(,32

3. Solve: 14 - x =\§: 60
x. p—

10 -(3x +5) > 26 and X Is dn Integer,

u.;hqt is the gsoa%d X - 47
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Use when given a graph and
asked to find slope
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Find the slope of each line.

a. 7|

[ T{=1, 2}/ %




When given two points, you find the slope by using the formula:

2yl
o _Y2-y
X9 = X]
(Xlr YI) (XZI y2)
Xl Y| h\fz,
1. (-4, 7), (-10, 9) 2. (12, 6), (-2, 10)
M=2-"7_2 1| m= 10~ _ 4 _
3. (5, -4). (5. 10), 4. (6,-2), (0, -5)
o —-5¥2. _
_ = =
M=z - -6 - =5°
5. (3, 10), (-15, 4) 6. (0.9), (16, 9)
m:q“oz-_& -1.4
Ry TI¥ r m=0




